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Ben Yehudoh says, he does not even pay 2''12 by his own admission

Overview

777 12 "1 maintains (in the name of w'"1) that by "0, the 71no71 does not pay even
5™3, based on his own admission. There is a 71wn, in? which ¥"1 maintains that if
the alleged nnon/oiRn at first denied and swore that he was not 7n9n/01kn%, and then
he admitted to it, the rule is that he is M5 from a 7y12W 1277, since one does not pay
1P by his own admission.*

- NONT PIINNNR NTIND 12 PYNRY 539 INP INT PHYS 19529 1IN

The >''1 says that if we assume that 3" 2w is referring to our 711w, which states that
if one admitted to being 7ndn he is only liable for 2391 N2 (but not for 01p), and *"2w" argues and

maintains that he is not liable even for 01p; in that case -
PYNY 22997 ¢x,an 91 1P N9V YA ¥NHIYNT NN

This which is implied later in the beginning of 779¥1 P75 that according to @' -
= APAY 1299 19D 29NN DID) NYIA Yan NPT IN

If the father would claim 2''13 from the inon/018n it would obligate the nnon/oixn

for a 7¥12w 329p; which would seem to contradict our X723;® M20In responds -
= 7RO 9INPT 2919 931951 D2 IND 91299 2PW PPN AYNN ANN IWAN DNNT DIVN 13N

That is because there (by 712w 7277) the father initially demanded payment for

'In our Ny it reads NYAW 27 2IwH WK AW,
2 1,7% my1aw cite later here on X,2n.
3 One brings a nv12w 1277 if he swore and denied that he owes money, and subsequently admitted on his own that he
owes the money. He must repay the money plus a wnn and being a m?°13 owR 127p (also known as 7312w 127p).
4 Therefore since even if he would have admitted initially, he would be 5 from paying (M5 01p2 77n), therefore
this is not the case of 17n M7°0> which the 770 is discussing regarding a 7¥12w j27p.
5 Others prefer X,3. The mwn cited on X,21 mentions a np12nn whether a 7non/01RA is 21 a 7YV 127p; the 1327 are 27
and w"1 is 7vI®, since MY "y 0P 02wWn PR. They asked W' but there is 5" (which is not a 03p). The X3 later (X,3)
explains that their nPY7nn is in a case where the father made a general claim >n2 nX nn°o1 NOIR; the 7327 maintain that
the father was asking for 8"12 (which is 11n), therefore if he denied and swore, he is 271 a 7312w 1272, However w1
maintains that he is claiming the 03p, therefore there is no 7¥12w 1279 even if he denies it, since MW 0IP2 77N, It is
therefore obvious that (even) according to "1 if the father was claiming 5"12, he would certainly be 211 a 7v12w 127p.
® The rule is (see ‘Overview’ and footnote # 4) that in a case where if the debtor would have admitted initially to owing
the money, he would still be 71, then there is no 7312w 2P, even if he swore and denied it. "9 maintains here that
even if he admitted to being 7inon/01X7, he is still Mva (even) from 5™3, so how could there be a 71w 127p7?!
7 The reason w" exempts that in9»/018n from "2 is (not because it is a 01P; which it is not, but rather) because (since
the father is not presenting a claim), we do not believe the »/» spreading false accusations which are not verified.
Therefore in our X3, ¥"1 maintains that he does not pay ™2 (for we do not believe him), however in the X3
concerning a 712w j27p, we are in a case where the father claimed the ™3, giving credence that she was violated, in
that case, had he admitted he would be liable to pay 5"12. Therefore he is 211 a 7¥12w 127p. See ‘Thinking it over’ # 2.
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5"2 (the non/oiRA did not come forth and admit it, as the case is here), so it is not
applicable there to use the logic of ‘he cannot be believed, etc. to blemish a Jewish

daughter’, which the X713 applies here -
- SNYAY /97 NN SNIN S9NT MY T8 PN)

And therefore it is not necessary to say that there are two different 2°8in
expounding the views of @''9; rather we can reconcile these two rulings.

NN offers an alternate resolution:
= £9°9) N2 MPINY NIIN IPYT XNNT DNYAN 12 PYNY 12929 99N 1IN

And additionally says the X''2w9 that the X7n2 later (which indicates that he is 211

a 72w 1272) can be established that the 77v1 was the daughter of converts -
= 199 NN RDT DN NN TN NN NNDT 9199109 KDY 7NPaNDY 199D 1Y XN

And it is a case where she and her father are agreeable to accepting the 23 and
the o1p, for we cannot say (as we do here!?), ‘perhaps there is someone overseas

who is not agreeable’, for since she is a 2™ n3, she has no family elsewhere -
- (0w it o) 2Z0I9) YA 1P SNMNT MMAWT PIVINNAN PINY %39 IND IX 19

However if @''9 (when he exempts him from 5"12) is referencing the 72w in noon

myiaw, which is cited later in the beginning of w1 P79 -
1PNV 2297 NN ININ 290 TN by

Perforce we must say that there are two 2°Rin expounding the view of @'9 in a
contradictory manner.

Summary
A non/o1Rn 1s M1 from 5"2 (according to W), only if he admitted it first (except

for a @3 n2), however if the father demands it, he is liable.

Thinking it over
1. mooIn explains that our 7awn here is where Wwan 1X.1* How do we explain what

8 The n"an mman inserts here the last two lines of Moo (from ¥ until w»w >277). See Footnote # 11.
% Therefore the reasoning of *1199 YW 12 039°w 17 73 X2 does not apply, since they are both agreeable.
10 See shortly that even if she and her father and family are agreeable, nevertheless he is not believed since 1 X3°%7
7% R°1 RP7 0°77 N17n3. That applies to a 98w 12 who has family, but not to a 2> n2 who has no family.
" According to the "33 737 these two lines (NY»AW *277...37m1) belong before X"2w7 9% 731 (see footnote # 8).
12 See footnote # 2. That mawn states clearly that the father is claiming 02 nX nN°n9Y NOAR, and it is regarding this 7awn
specifically that w"1 states here that even regarding "2 he is not liable to pay and therefore 2w from a 7¥12w j27p.
That ruling contradicts the ruling from the understanding of the 71w», where w"2 maintains that if the father was y2n
5"2 he is 217 a 7Y12W 127p (see footnote # 5). And both cases are discussing a case where the father was ¥21n. We must
say W"77 R229X "Xan N,
13 See footnote # 7.
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5"7 initially assumed that both the daughter and the father are not agreeable to accept
the charge (that she was 175¥21) and the payment; in that case what is the issue since
they do not want to accept the 030 and the payment?'

2. mooIn explains that the case where he is 21 a 7912w 27 is where Wwan ax7.1°
However in our X713 (in the discussion between &95 27 and *°2X) it is evident that the
n/n is WO even if it is 77 X1 to the daughter and the father and (even) the °1a
anownn, nevertheless he is MWD because 7°7 X1 RY7 V"7712 717 8OHT XK, so what is
nMooIN explanation that Wwan axa?!16

14 See X"wAmn.
15 See footnote # 7.
16 See yavw 'oin.
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